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1. Amanriding a bicycle, completes one lap of a circular
field along its circumference at the speed of 14.4 km/h
in 1 min 28 s. What is the radius of the

field?

23, 380° Bed Sedad 3, 1 Aba 28 FZonvY
14.4 3de/fo Bend) oo DI eudEe,
3)39500 AVALTA] (Mela DB,
PEETRIDTIS. B33 S ),?

[IBPS Clerk 2011]
(b)32m
(d) Cannot be determined

(a) 56 m
(c)24 m
(e) None of these

2. To travel a distance of 720 km, a bike takes 6 h more
than car. If however, the speed of the bike is doubled,
it takes 2 h less than car. The speed of car is

720 3¢ GOSNy BaIBEL, Yy 30N 6
o @) IRBReWTE. swens, ¥,8s Feidm)
BrOEMe9AET, wmh  =0Nd 2 ro 38D

SRDERR,ST. S0 Sen ax),?  [SSC CGL 2017]
(a) 60 km/h (b) 72 km/h
(c) 66 km/h (d) 78 km/h

3. A man travels 360 km in 4 h, partly by air and partly
by train. If he had travelled all the way by air, he would
have saved 4/5 of the time he was in train and would
have arrived at his destination 2 h early. Find the
distance he travelled by train?

22 B804 rogdrivd) 360 dbe BuircrIT,
nB: ABIBY D@ ertd: SO0, @BD
OBRRTY  Fairesddgd, e3d SO0 4/5
BobFRY, UIDAGD DI 2 rots BwoeddN
3D, NRAFRSRY FVDIZD. D ,OR0
BARHIE CROIRY S0dBRMS?

(a) 75 km
(c) 85 km

(b) 90 km
(d) 80 km

4. Pranav went to the bank at the speed of 60 km/h,
while returning his home he covered the half of the
distance at the speed of 10 km/h but suddenly he
realised that he was getting late so he increased the
speed and reached the home by covering rest half of
the distance at the speed of 30 km/h. The average
speed of the Pranav in the whole length of journey was

B 60 3de / no Ien3Y BTBB, BB, T
33, DI Lodbrvzmen oD 10 e / o
SN PER), BRSSRY,  FHITDH 8T
933,308 ©3D SBEDNHSDITR), 0D WTD
SenSD, BIITD D) BewdBD. 30km/h Serid
OB BFER), BTSSR, FDDS Bwewd SI.
8¢ B0d5060B0 TS B0OIO. Sen a)?

[IB Security Assist. 2017]
(b) 14 km/h
(d) 10 km/h

(a) 24 km/h
(c) 16 km/h

5. A certain distance is covered by a cyclist at a certain
speed. If a jogger covers half the distance in double the
time, the ratio of the speed of the jogger to that of the
cyclistis

200 IBFG, BROTRY, B;87, 2o IBFE, BerBO
BTN, Beertdh GFFER), GRSSKY DB,
ST ZWITT, 2eenoR Fens V@3 om)?

[SSC CGL 2013]
(b)4:1
(d)2:1

(@)1:4
(c)1:2
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6. A car starts running with the initial speed of 40 km/h
with its speed increasing every hour by 5 km/h. How
many hours will it take to cover a distance of 385 km?

203 FD) 380D et 40 de/RodIeodR Laew
29,000BT DR ¥@3 Benay) B3 roedrt 5 dcbe
| fo Be3rh3d. 385 dcbe dfaddﬁg( BT AR,

noed InDEeRIS? [SSC MTS 2014]
(a) 8h 2 (b) 9h 2
(c)9h (d)7h

7. The ratio of the speed of a bus to that of a train is 15:
27. Also, a car covers a distance of 720 km in 9 h. The
speed of the bus is three-fourth the speed of the car.
How much distance will the train coverin 7 h?

3,01 Send, S Jend vdwedR) 15: 27 8Nd.
WU, ZD 9 noedn¥d. 720 dcbe | BTy,
ZAD3BE. AR JenY. 08 Send - Swedh-
Do, JabTd. 7 nodnvd T oR) BeSS

BB ? [Allahabad Bank PO 2011]
(a) 760 km (b) 756 km
(c) 740 km (d) Cannot be determined

(e) None of these

2
8. A bus reached its destination in 12 h at ; of its

average speed. The time taken to reach its destination
at its average speed is

2,00 WFF 33 F0IRO Jend 2/3 Ty, 12 Roesnvd
33, na)maRER) WD, B0 0RO Serisd

NESOIRBR, SwaW 3nDBeod  Iad
B0RDHANO? [SSC Constable 2012]
(@)8h (b) 9 h

(c)10h (d)12h

9. A certain distance is covered at a certain speed. If
one-fourth of this distance is covered in double the
time, then the ratio of the two speeds is

2om JBFE eI womd B JensO

ZJBTHSTE. 5 BRTB e, Fe 20w LIS,

QT 2Wed FchITT, VD Senny ODTOSY) OR),?
[SSC CGL 2013]

(a) 8:1

(c) 2:2

(b) 1:4
(d) 1:8

10. The average speed of a bus is 67 km/h. The bus was
scheduled to start at 12 pm. It was scheduled to reach
a destination of 335 km away from its starting point at
7 pm and a halt was scheduled on the way. For how
long was the halt scheduled?

WIS BOO der Motdrt 67 Swede. DYH 12
doedi7* | Tedreiedd). ©od, 7 rotdt 33

D008 F¥Bo3 335 8be BROE MmNy
BB ABFORTNG @) TOWE IDNBWRY
ANBBBITMD. BT, o), FReHBISH

NptaGter{Srialag [UCO Bank Clerk 2011]
(@)3h (b)2h
(c)4h (d)1h

(e) Cannot be determined

11. Ram walks at a speed of 12 km/h. Today the day
was very hot so walked at 5/6 of his average speed and
arrived his school 10 min late. Find the usual time he
takes to cover the distance between the school and
home?

o 12 3e / ro Bend) SBwzes. wowd
OIF Dowe DIWNR), 83008 ©I3 Joexd
Jenad 5/6 89 SBD 10 Aha SBdweN 33 zedr
208D, Tt DF) DI FDAIR WOBTI), B
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B VTP SHDIPRS TR FDADBY,

30D &BABVJTIe?

(a) 40 min
(c) 50 min

[Delhi Police MTS 2017]

(b) 45 min
(d) 55 min

12. A student walking 5/7 of his usual speed reaches
school 20 min late. What will be his usual time?

Ao Braly 3F 20BI Berid 57 SBrioabRy 20
ADE BETN o0 BTN, OB IR,
RBad wreRT?

(a) 60 min
(c) 40 min

(b) 30 min
(d) 50 min

13. A man travels 600 km by train at. 80 km/h, 600 km
by ship at 30 km/h, 500 km by aeroplane at 400 km/h
and 300 km by car at 60 km/h. What is the average
speed (km/h) for the entire distance?

wey DS, ;O30 80 e/ ro, 600 Se
®ENSY 30 3e / no, 500 3cbe JISyesz3e) 400
3e / fo @) 52030 300 e roedri 60 dcbe
SeNBY  FeesdTIN. JoRper BRTB, JTeRO

dert (3ve/rio) ay? [SSC MTS 2017]
7
(a) 63 (b) 62
561 d 591
(©) 27 (d) 27

14. The driver of an ambulance observes a bus 40 m
ahead of him, after 20 s, the bus is 60m behind. If the
speed of the ambulance is 30 km/h, what is the speed
of the bus?

esowzsdagd OB 33N03 40 e oD
[AGed eﬁdg( NI, 20 FB0RY S033, wx° 60

Qe Hod ¥3B. esowédaid e noedrt 30 de
sNGS, TS el oa),? [IB Security Assist. 2017]

(a) 10 km/h (b) 12 km/h
(c) 15 km/h (d) 22 km/h

15. A motorcyclist covered two-thirds of a total journey
at his usual speed. He covered the remaining distance
at three-fourth of his usual speed. As a result, he
arrived 30 min later than the time he would have taken
at usual speed. If the distance of total journey was 180
km, then what is his usual speed?

DRLIOTBR, BY Doy,  DENBY  we),
Dt SweTdRe  OTBCR), WS,  BPTAT.
OB PUPT BRSSY, BT, TR Senad Bz,
2IONBR BB SOHWN; 9B TSI,
3en3D SrDBe03 BHD,08 30 ddba SBeN
QOTW. e, 0370698 BT 180 e esﬁdod, [CIATY

mdmdzs 3en ax? [MAT 2013]
(a) 40 km/h (b) 36 km/h
(c) 30 km/h (d) 32 km/h

16. A car covers a distance of 540 km in 9 h. The speed
of atrain is doubled the speed of the car. Two-third the
speed of the train is equal to the speed of a bike. How
much distance will the bike coverin 5 h?

2o =D 9 rodnvd 540 dbe ReOER),
3,08 Fend 0O SendxYy
BreePDIT. 3,03 Fwde ooadR) S

ZADIT.

3,33 ertd, IDVNDIT. 5 rotdnvd) 3,5 om)
060 ZARI?

(a) 450 km
(c) 400 km
(e) None of these

[IDBI Executive 2018]

(b) 360 km
(d) 500km
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17. Rashmi walks at a speed of 5 km/h and cycle at a
speed of 10 km/h. To cover a distance of 70 km, Rashmi
takes 10 h. How much of the distance, in kilometres,
did Rashmi cover on foot?

9%, roedrd 5 dcbe IencO Sdaivzad S roedrd
10 sve Jeind ,E0° Sedmed. 70 8.
Ce0ERY VR, O3, 10 ro. deloedeasonvd
om) CROIRY T8, 5BHANO ZAATD?

[KVS LDC 2017]
(b) 35 km
(d) 30 km

(a) 25km
(c) 10 km

4
18. The average speed of 4 a car is 1 Etimes the

5average speed of a bus. A tractor'covers 575 km in
23h. How much distance will the car cover in 4h, if the
speed of the bus is twice the speed of the tractor?

4 503 TR0 Jeny WN 5 _Boex0 Sertd 08
1 4/5 Sed, dad),. €3930° 23n0edod® 575 3.ce.
WIS Ien) Esgésdo% 3end,08 AT DERD), aéa%dod,
ol 4rotIah® o), alle i) B RVSE?
[Corporation Bank PO 2012]

(b) 480 km
(d) 450 km

(a) 340 km
(c) 360 km
(e) None of these

19. A car starts running from a place at 1 pm at the rate
of 18km/h. Another car starts from the same place at 3
pm in the same direction and overtakes the first car at
9 pm. The speed of the second car (in km/h) is

oD 20w JYOoB @pe® 1 roedrt 18 3cbe /
no aferﬁdém LB ©9,B0DIT. @Rﬁfac(od) Zod)
e I¥00B Dryd 3 rodrt vde B3I BT
0od) 9 noddrt BBy 50RY HoBBR,BE. aTVBIe
500 Jert o)? (31e/roIQ) [SSCMTS 2013]

(a) 15 (b) 18
(c) 24 (d) 30

20. Mand N travel the same distance at the rate of 160
km/h and 200 km/h respectively. If M takes 30 min
more than N, the distance travelled by each is

Mand N 3zbeseN 160 km/h @@ 200 km/h B3B3

e BRTBIY FDWSE. MNNoZ 30 Aa Bed)
Srichdeodd, B8weode ZoeeddE BR3 OR)?

[RRB NTPC 2016]
(a) 120 km (b) 200 km
(c) 320 km (d) 400 km

21. Deepa rides her bike at an average speed of 30
km/h and reaches her destination in 6 h. Hema covers
the same.distance.in 4.h. If Deepa increases her
average speed by 10 km/h and Hema increases her
average speed by 5 km/h, what would be the
difference in their time taken to reach the destination?

Bezo B3 3,3, Moedrt FSoed 30 dche Sendd
LBDTY DF) 6 rodnvd BF NSRBI
SRSV, Tero  wae cimddxig( 4 " rRoedn¥d
SDDBE. Dewme B3 TR0 BentSp, noedrt 10
3cbe BYIBT D) BeFe B, F0TO FenS,
noedrf 5 3e IYATT, 0BD  NayTIIBI,
BB IrDHZANT IDLB SBATBeD?

(a) 54 min (b)1h

(c) 40 min (d) 45 min

22. Ajay covers a certain distance with his own speed
but when he reduces his speed by 10km/h, his time
duration for the journey increases by 40 h, while if, he
increases his speed by 5 km/h from his original speed,
then he takes 10 h less than the original time taken.
Find the distance covered by him.
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oua 33T 88 Seidod IBFF TROBY,
BRI SET oD Iy SeriaRy, 10 deve / rio
3BDLeVITN, ©BS  Fowend  eIDA 40
dorvay, @Rrdd, oot ez3H 33 Swo
Seridod 5 se / ro Jeridxy BITT, J030
oD Srichdeod Zwe IDopa3 10 fo 38D

BrcBeRS3. LT 303 aleleati)
B0RD&HAN0. [I1B Security Assist. 2017]

(a) 1000 km (b) 1200 km

(c) 1500 km (d) 1800 km

23. Walking at % th of usual speed, amanis 1 h late.
His usual time to cover the same distance, is

@R, St % Fob  FeABO | SBRWEN, 28
Saaiy 1 % fo SEerbees. edt | CeoER)

BT O[T ToToR; Thad BODHEAO.

[SSC CGL 2011]
(b) 4 h
(d) 5 h

(a)a%h
(c)5%h

24. Two towns A and Bare 500 km apart. A bus starts at
8 am from A towards Bat a speed of 70 km/h. At 10am
another bus starts from B towards A at a speed of 110
km/h. When will the two buses meet?

Q8D BIENWD o DF) eJect 500 3che 90STTA.
word X WY} 8 noedri AQod eyt Bt 70
km/h SRk @yBodmerddd. S¥ri 10 noednt
DZR0D W, B od A 3B 110 km/h Jenadd

D00PDNNBB. ATD WRAND  drement
&56&30&)‘9{%§a§? [SSC CPO 2009]

(@) 1pm (b) 12 noon

(c)12:30 pm (d)1:30pm

25. Two places R and S are 800 km apart from each
other. Two persons start from R towards S at an
interval of 2 h whereas A leaves R for S before B. The
speeds of A and B are 40 km/h and 60 km/h
respectively. B overtakes A at M, which is on the way
from R to S. What is the distance from R, where B
overtakes A?

R DI S oD JInD H0I3 800  3cbe
©03TBOB. RYD F3riwd RA0T SBAM 2 noedrie
dsc%oddd@m D900 T0 8BS A R B No3
B3 St ABD@B. ADD Bab Iennw SN
40 km/h @& 60 km/h sADBE. R Qod S i
BRHT errddDHE M3 B A ©R) »odE),ST.

RA0G TeT om), 0 B A ©x) HoDAZH?

[IB Security Assist. 2017]
(b) 235 km
(d) 300 km

(a) 260 km
(c) 240 km

26. A man covers a certain distance on scooter. If he
moved 3 km/h faster, he would have taken 40 min less.
If he had moved 2 km/h slower, he would have taken
40 min more. The distance (in km) is

2wy FE TRLOTY IBFG BTSN, FDDTIS.
O3D 3 3 / o JermeN WO, w3 40
AN 38D IiDEeRAGD. o3D 2 dde/ro
AN ¥OAPD, eTD 40 ADI  Id)

IRDBERRATD. TS (3 BO) BoRBBY.
[SSC MTS 2013]

(b) 36

(d) 40

(a) 42.5
(c) 37.5
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27. Buses start from a bus terminal with a speed of 20 AN 2003¢ 656563 N3033 Jence) BOITT,
km/h at intervals of 10 min. What is the speed of a man

coming from the opposite direction towards the bus SR 5 rﬁoaérﬁ?@m ?‘jef‘gmméd' SoTried
terminal, if he meets the buses at intervals of 8 min? &,Oda@&o@ @Oi)‘:)sﬁ«%dd’, ) 1 Roe3ad®
10 Q=N d.)dzsoédde.z 20 3e/no 56&382 (ALY

BDFRFA0T WA @803, 8 ey

Jeedairorddas. Serten L 503 dert o ?

[SSC CGL 2010]
©030TY wRVRY Jeainnd, abg 83,03 (a) 60 km/h (b) 50 km/h
' 40 km/h d) 32 km/h
07 BFI 3dR whd Fdab Jent oRy? i e
[SSC CGL 2010]
(a) 3 km/h (b) 4 km/h
(c) 5 km/h (d) 7km/h

28. Jignesh had to cover a certain distance in a certain
duration of time. He travelled at 80% of the average
speed required for 60% of the time. For the remaining
40% of the time, he needed to travel at .............% of the
average speed required.

Bried’ wold by OB A0 BROSI)
ZJUedD). oID 60% I, VRSIDS
J0eR0 Send 80% TR, TadreeddBD. eved 40%
SDHALBSTr, BB ONSADS | FoRO - Jerid

............. % SO TodreedTesoN).

[RRB Group D 2018]
(a) 115 (b) 130
(c) 125 (d) 120

29. Two places A and Bon highway are 100 km apart.
One car starts from A and another from Bat the same
time. If the cars travel in the same direction at a
constant speed, they meet in 5 h. If the cars travel
towards each other, they meet in 1 h. What is the
speed of the car running faster?

o DR o’ TwOWh o@D Frid 100 e
©OBTBOS. oW T A Q0B DR BFR,0W

WYEFA0T  wode  IDALBY  TyBoLDrHIST.
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